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| Important:

# This question paper consists of B pages.

% Write your Index Number correcily in the
appropriate places on this page and on page
three.

% Answer all questions on this question paper
itself. .

# Usc the space provided under each queﬂ.i.,nﬂ
for working and writing the answer. [k

# Indicaic the relevant steps and the correct
* umits in answering the questions.

# Marks are awarded as Tollows:
In Part A
? marks for cach questicn

In Part B
|0 marks Tor cach question

Eecond Examiner Code Mumber

Arithmetic Checker | Cade Number

% Blank papers can be cbtained for scratch work.

.....................

‘Chief Examiner |  Code Number

|see page wo
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1. * Duty of 6% has to be paid when an

item Wworth Rs 800 is imported. F‘Iﬂdlhe.dut_-.r.

2. In the given '-"unndiﬂgmm.slmﬂnm:regiun tha represents
the subset 4 M g

Represent in index form; log, 16 < 4

4.

———

5. Solve (x- {x-2)=1p

Write all the positive integers that satisfy the inequality 24 1 =35.

7. Simpiify: 1+ £

i

— -_ L]
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Find the least comman multiple of the two algebraic expressions Xy and 2,
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9.

Al
It takes 6 hours to harvest a paddy field with a machine. How many hours will it take o harvesi this
paddy field with three such machines?

10. Write the probability of getting a card with an odd number written on it, when a card is drawn
randomly from a box which contains 3 identical cards with the numbsers from | to 3 written on thizm.

1. Using the information given in the table, find the first approximation of /20 .

R E TR ETEIEENET r
2 | 86.49 | 88.36 | 90.25 | 92.16

i2. The two trangles ABC and POR in the figure are

K
congruent. Find the values of x, yand z using the given
information.
' A B P Q

13. ﬂmrﬂmdaﬂﬂ:ﬁin&rh?maﬂiﬁtﬁﬂnhim,m%fu'ﬂ-mvalmﬂn,f'mi
| li:-earmnfiucunadsmfﬂ{&umnfﬂ:cmﬂdmnfmdaﬂﬂcylindﬁufmdiusrs-nd
' height A is 2arh).
|4, Find the value of ¢ using the information given in the figure.
A
B

15. Given that cos = = 0.8, find the length of PQ using the information in the figure.

[

|see page four
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17.  in the table, place the mark ./ in the boxes in frong of the true Slatements, if any, and the marf ;
“X" in the boxes in front of the false statements, i7 any.

r In a parallelogram, Opposite sides are equal and paralle],

In a parallelopram, ite angles are equal.
The area of 5 parallelogram is bisected by each diagonal

—

_-_-_-_-_-__—-_-_-_..I
19, 'The radius of the circle with centre O in the figure j5 |
of the chord A using the given inf, :

il

20, tiivenlmta=('; IzJand n=(§ i'J. find the matrix AB,

|

I.
21 Find the magnitude of Efc. using the information ]
relevant to the triangle ABC in the fi Eure.
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23,  The centre of the circle in the figure lies on AC. Find the magnitude of

chD using the given information. Q
) F

=3, Find the volume of the triangular prism in the figure using the
given information.

24 Thu:.ﬁrsllzdatsufﬂdatathatmwritt:ninmnendingmderismfn‘_llnws.
4,4.6,7,7.8,9,9,10,11,13, 13

Write the median and the first quartile of the 23 data.

draw a sketch of the construction lines required to find the pointon

25. [Inthefigure,
and indicate this point by naming it D.

from the points A and B,

AC that is equidistant | |

& W

[see page six
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The amoygy Feinaining gfjer Purchasing (e books
(i} Find what fraction
|

(ivy If the TEnovalion cosy was Ry

20 000, fing the toral amount Mr. Kithsir donated.

number of farmers who seleg

() Find the magnitude of
that represents the

The number of farmers
(i} Find the number

of farmers

Afier ope Year,

20 farmers
[iv)

who had been Browing brinjals stopped growing vegetables,
Find the magnitude of the angle at the centre of the sector which represens the fanners »
Erowing brinjals, in & New pie chart drawn considering (he changed dayy,
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3. Mir. Perera, who is an invesior in the stock market, invests Rs 40 000 to buy shares of a cormpa
at the market price of Rs 80 per share. The company pays annual dividends of Rs 6 per share.

(i) Find the number of shares Mr. Perera buys.

(ii) Find the annual dividend income Mr: Perera receives.

' Afier one year, Mr. Perera sells all the shares and makes a capital gain of Rs 3 500.
(i) Find the selling price of a share.

Mr. Perera adds Rs 3500 o the capital gain and dividend income he receives and depc

.-|!-u:whnlr.annmfwapuindnftwym.inaﬁmddupmilmmmﬁchmysanm
nmrmnﬂimﬁfﬂmeufiﬂ‘ln.

(iv) Find the total amount in the account at the end of the two years.

4. There are three red tennis balls and one green tennis ball in a box. A ball is drawn
the box, its colour is recorded and is put back. A ball is drawn from the box again a
colour is also recorded. The balls are drawn randomly.

(i) Indicate the relevant sample space in the given A
grid using the mark "X’ (Ryy Ry Ry represent red -l o R
balls and G represents the green ball). = H \
Eal 1t
2 |
(i) Indicate the event of drawing the green ball at i Ry s, e -
least once, by encircling it in the grid, and write R :
down its probability. 3
|
Ry, Ry B
First Draw

Mu[lhr:ummdhujlaameanhmtﬂdwﬂhﬂ'ﬁml.mﬂmemrﬁningmmﬂ
wﬂlm@mﬂwlm&nmr.&mﬁduﬂumﬂnmﬁeﬂmmtﬂﬂv
recorded in each of the above drawings. ;

|see p
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- (v} Light bulbs have heen lixed around the fAoor an wihich

(iv) Find the Probahility of drawing balls marked with (e NG letier on oy OCCOsions,

(v) State wigly Casons whether (fhope 15 0 preaer Probability of rlr.nw-iug balls inarked with the
sune letier on By UCCASions or diawing the green bl al least ongg. ’

. e 3 |
A sketch of the flogr of a theatre is shown in the figure, I congisig of a semicirculgr pact
CED on which the stage js iy and a Tectangular pant Afcp where the auditorium jg buil;.,

The length of p 5 14 m,
In the following calculations, yge %3 for the valye of T when required,
{i} Find the arc length of the semicircie CED.

(i) Find the ares of the floor on which the stage is buil

(i) If the floar area of the auditorium is fiyee times the arey of the floor on whicl the stuge
is built, find the length of ap.

4t C and D g, There iz g equal gap of .4 metres
line CD, The bulbs on the ape CED are alsn fixed with
bulbs on the line CD and on the arc CED are equal
arc between two adjacent bulbs on e arc CED.

¥ %
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